novotechnik

Siedle Group

TE1 RINBELX A BIE RS
BTk, NEE S
T1E=FERIA 150 mm

AT A N B SR, AT EANENE, A
BRI, BoRSE, fRURERR. RIEES.

F AR Sh e BETH IR I R8s, JULLIERAT W o ph R 2
WA S, BRI IR A5 BRI BRES HE SR AL AR 1] B
BRZE KM B T7

FeT AL TARREE, RIS TR,

e

o MK, MARPHASE, BITREAL 100x10° X&)
o My, mEAIik £0.075%

o i LI B A S g

o WU SR AT

o TR LT R B G5 4 W I Bk DN 1k i g

o BT R &L 10 m/s

o b fndR B H M Rt

o AT ek L A B i 3 7 5K

|

s 5% [N

kA Lid AN AISI 303

b2 S A M5 x 0.5 IRAEMBETINER, WK AbBR, A5 ohi )
EqiRT VS Wi 2% 1 4 T ik

HBLIEIE SR

i RIZE Ve % kAR, A TE BLE

AR 3 £ M8 x 1 [l#fik, A hfli

3tk PVC BRlEEE, 3x0.14mm2, 2%

TEL:400-900-8812 / 021-51098812 48T : 18017400327 www.volfa.com info@volfa.com



PRy (Z-45)

33
19

DIN EN ISO 1207

M4x10

=

1

6

il bl
#% K 140 Ncm

15

22

1

M4 ~
P
©
=
FREE
SW-10
w0
)
o
©
G o
M5x0,5

/mfﬁ& om

EEM 33-56/-58/-60

283

[k (Z3-31)

205

@10
EEM 33-57/-59/-61

TEL:400-900-8812 / 021-51098812

4FT : 18017400327

novotechnik

Siedle Group
PR (Z-45) ] (Z3-31)
S| wl ol
~
HE ]
DIN EN 1SO 1207 45 o
M4x10 1.6
I 18
K 140 Nem e
M4 <
3
£
=
N
BREE
="
o = o
~ SW-10
] .l& 2 :
-0 ]
< P Z-45
I e
~
| I M5x0,5
+0,3
28,8
40
Mk Himg HERLEL s
#5101 S 202 EEM 33-56/-57/-58/-59/-60/-61
1 3] kit PR
4 SR B (ERez h
£ 3 kit [ Hit

www.volfa.com

info@volfa.com



novotechnik

Siedle Group

BSEX TE1-0025 TE1 -0050 TE1-0075 TE1-0100 TE1-0150
WS BN
ShsElE (RFA) 63 88 113 138 188 +1mm
BT (R B) 30 55 80 105 155 +1.5mm
i
g 183 202 222 245 328 g
AT I 138 157 177 201 280 g
TAESES) (KFT71) <03 N
BREE IR AR M + 1 mm FARE,  2.5° fi I
] 8 SR ET W dpe R AL VP AR (P4 1) 140 Nem
LA K10 m/s
BESH
TAERRR 25 50 75 100 150 mm
T Ltk +0.2 +0.15 +0.1 +0.075 +0.075 % FS.
Haxf Ltk +0.275 +0.225 +0.175 +0.15 +0.15 % FS.
DES-31 0.002 mm
SRR TEh /s
FHEFE (BR) >10 kHz
AT NAXE il £ 1.0 mm
it {55 0...10V (g/Mudkbsi > 10 kQ, FREHEIE <10mV)
HL P L 3 10... 0V (e/hAgkBiLET > 10 kQ, FEHHE < 10 mV)

4..20 mA (% <500 Q)

20 ..4mA (f3k <500 Q)
LR PR A ORI 3 B B Pl T AR FL )
LAEHE 16 ... 30 v
TAEHED B K 10 % Vss
TC G v IR D FE <1 w
LI R BL <20 ppm/K
PR <36 (KA) v
MePERER , R LR PR A (R TAERIR)
#% B HT (500 VDC) >10 MQ
TS
AR ETL R -40 ... +85 °C
LA R 0...95 (JEiit) %R.H.
BidRB R (IEC 60068-2-6) 20 (5 ... 2000 Hz, Anex = 0.75 mm) g
yiohiikride (IEC 60068-2-27) 50 (11 ms) (Hili) g
Bii$%:4% (DIN EN 60529) IP 40
Hi oy >100 x 10° s
MTTF (ISO 13849-1, J Sk fi 0 T i) 25 4

Dhhede vk gk

IAEATD ™ 5 T R ARSI RS, Ik R IAT

i 2 EMC Frif

EN 61000-4-2 electrostatic discharges (ESD) 4 kV, 8 kV
EN 61000-4-3 electromagnetic fields 10 V/m
EN 61000-4-4 electrical fast transients (burst) 1 kV

EN 61000-4-6 conducted disturbances, induced by RF fields 10 V/m eff.

EN 55016-2-3 radiated disturbances class B

*) AT R S A R A

TEL:400-900-8812 / 021-51098812

SFT : 18017400327 www.volfa.com

info@volfa.com



novotechnik

Siedle Group

1T #04& 158 BA msEn
4; BN
TNAESC R A B RG2S U B B AN 2% - .
JEE HAAG BCER B AN 2 ﬁﬂfﬁfgifvﬁﬂ 4__
2. Wi
ENEREERHED 41
1: 0VDC...10VDC ($ifF4ili =0 V)
2: 10VDC ... 0VDC (hif4xthit = 10V)
EERREHED 42
1: 4mA... 20 mA (HikFAxili = 4 mA)
2: 20mA ... 4mA (FFF4 i = 20 mA)
B EE
101: 34k M8x1 W%k, Sl
202: NT bidfk 2 kb7 i g
T E1 - 01 5 0 -1 01 - 411 -1 0 1
IEEEER
bR L
75l 0025 mm % 0150 mm 101 fRIEMBTF BB
THENEEE AL
o 2/ Z7-45 TR o 4N Z3-31 &I, & 44 MAx10 HRET
o 44 M4x10 15T g . 059010
o 1 ANVERER
o 3% M8x 1 MEHEL, W PUR DFlHSE, 3 x0.25mm?
N,
RIEE K AT E B 7= o kmidi, M. EEM33-56, M4 005602
o ARIMEM, HAERES, bin. Wk gi 7 5%H45, ME, EEM33-58, =g, 005604

10 kM85, W5, EEM 33-60, ™M4mS: 005606
o 3% M8 x 1 M E), 1 PUR bRl 4E, 3 x 0.25mm2
2 K45, WS, EEM 33-57, Fmih%S . 005603

5MmgE, ®E. EEM 33-59, f“M4mS . 005605
10 K gi, WS, EEM 33-61, ™Mm%S: 005607

© 01/2014

e,
A BAITEAL

TEL:400-900-8812 / 021-51098812 48T : 18017400327 www.volfa.com info@volfa.com





